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[ O n-10 ]. e.g. This book is three times as long as (three times
longer than/three times the length of) thatone. 0 OO O 0O O O O [
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[ thandJ ast] of 1 B O O O O O O O increase to n timesd [ [
Increase n timest] n-foldJ [ 00 increase by n timest] [ [J increase
byafactorofnU 00 OD0OUOO0OOOOOOOnOOOOO
[0 n-10 0O O e.g. The production of integrated circuits has been
Increased to three times as compared with last year. [ (1 O O O [
OO000000000 e.g. The output of chemical fertilizer has
been raised five times as against 98601 [0 I OJ [0 1 198601 J [0 [ 4
[1 O e.g. That can increase metabolic rates by two or three times. [
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The drain voltage has been increased by a factor of four. O U [0 [
DO30000dododd4dod UoUdodondincrease



(1 O raisel growld go/step uplI multiplytl O O O O 0O OO

[1 There is a n-fold increase/growth] U1 O 00 O 0O 0O O O O n-[
O000OnO0 00000000 O0O0O0O0DO e.g. Arecord
high increase in value of four times was reported. [0 (1 O 0O O O [
OO0O000D0300 O00Odouble (O 10 )0 trebletd O O 20
[ O quadrupled 0O O 300 O O (O) e.g. The efficiency of the
machines has been more than trebled or quadrupledd U O O O [
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[ largel] longl] [0 [ again as B.[1 = Ais twice as much [ large
Olongd O OasB.OOO ODOOODAOBOOOODODOOOOL
[ 0O Ais halfas much I largel] 1ongll [ [0 again as B. (= Alisone
and a half times as much I largelJ longld O O asB.)O 1100 O O
DJOAOBOOUOOOOODOODODOAOBOODOOOOO
0000 Oais ntimes as small O lightd slowd O O as b.0J 1200 a
Is n times smaller U lighter] slower I ) than b.[J 1300 0O 0O O [
Jo0000a0000000o00oondnbdl/n[daldbd
OO00000000n-10/n]0 e.g. The hydrogen atom is
nearly I6 times as light as the oxygenatom. 1 O O O O 0O O O O
OO001/160 00 00O 00O 0O 15/160 O e.g. This sort of
membrane is twice thinner than ordinary paper. U 0O U 0O O O O [
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O 000Othan/as b O O O O O O O decrease n times/n--fold
[1 1400 decrease by n timesl] 15[ decrease by a factor of n[J 16[]
Jo0od0odododil/n[0o00d0n(n-1)/n]0 decreaseld

I reduceld shorten] goll slow down[d [0 J [0 O e.g. Switching



time of the new-type transistor is shortened 3 times. [ [ [ 0 O [
DOo0000001/3000002/300 e.g. When the voltage is
stepped up by ten times] the strength of the current is stepped
downbytentimes. 0 0O O90 0 0OOOOMO OO Y9100 0900
[1 0 e.g. The equipment reduced the error probability by a factor of
. 0000000 odoa4/s0 0o dthereisan-fold
decrease/reduction] DO OO OOUn[00OD0OONO 10 /n]
OO170 0000000000000 e.g. Arapid decrease by
a factor of 7 was observedl] OO0 U 0O O OO L1/70 e.g. The
principal advantage of the products is a two-fold reduction in weight.
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